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  Verbuchung von Steuern Buchungssätze 2 

  Lösung                                                     
dd  

 

Betriebliche Durchlaufsteuern: 

a) USt-Zahllast:  

_____________________________________________________ 

an ___________________________________________________ 

dd 

b) Lohnsteuer:  

_____________________________________________________ 

an ___________________________________________________ 

  

Aktivierungspflichtige Steuern: 

a) Grunderwerbssteuer: 

_____________________________________________________ 

an ___________________________________________________  

dd 

b) Normverbrauchsabgabe (NoVA)  

_____________________________________________________ 

an ___________________________________________________ 

  
Privatsteuern: 

_____________________________________________________ 

an ___________________________________________________ 
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